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PART—A
( General Ability and Intelligence )

1. Suppose P and Q) are distinct two-digit 6. How many prime numbers are thers
numbers consisting of the same digits. between 200 and 2307

fal a prime number e 3 () 4
fb} an even number
e} an odd number

6. The following sequence is generated by
jd} divigible by 9

dividing 50 by natural numbers ;

! 0 0, -2, 2.0 B xR B
2. In an artificial lanpuage, some words are

translated as given below (not in order) ; Whatde xx
bie cie fie (good persons sing) fa) 1 b 2
cie fie gie (sing good lyrics) e 3 [d) 4
hie gie fe  (love good lyrics)
What is the translation for ‘persons love 7. 1 bad bought a shirt at 10% discount
lyrics’? which [ sold to & friend at a loss of 10%.
fa) cie hie gie If the friend paid me ¥729-00 for the
{b) hie gie fie shirt, whs_ut was the undiscounted price
: ; ; of the shirt?
{c) bie hie ge v
(@ fie bie cle M s
(b ¥900
3. How many pairs of letters are there in the fe) ®911-25
fr ey
word ‘CREATIVE® which have as many (d 1,000
letters between them in the word as m
the alphabet?
B If
fa} 1 fbj 2
fe) 3 (d} 4 @| + |+ ]| = 16
+ +
4. A painter wants to paint a picture o A & e,
rectangular  portrait) occupying T2
square inches on 8 canvas allowing a = T
margin of 4 inches on the top and 26 16
at the bottom and 2 inches on 1 ;
cach side, What will be the smallest then ‘t’;h*"h one: of the follawing is
dimension of the canvas? el
fal 127%17"  fb) 77x31” fa) @=9 B mm-F
fel 137 =16 fdp 10" %20 fe) #=19 (d} =8
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9. = vk Ui At (GP) W ftem v 4 B, W@ 13. TF 9ed W = 126 m ¥ 500 vl A 1w

T GP % Y& WA TE # qoeEe w8 i fipaar a9 w2t
fa) 43 fa) 1492 m
4
L () 1980 m
fc) 4%
fe} 2530 m
(d) 4°
fd) 2880 m

10. = gt v, T w1 @ 6 sifea B,
w5 am #) fel e % d ol = 14, T% =iF 28 g0 9 F 6 km/hr 6 7 @

WTHa 7 A 1 w0 i 27 T o T v ¥ e oA S um

@ 1/6 % el B # 45 kmyhe 9 91 @ AW

& Bis =m B 2ft 37 7 o g i fm @ @
¥ (= wara F ww), Al Ay

fe) 4413

@ 7713 fa) 7L km/hr

11. Atsdi® 2R AR esm i B, 4

fb) 7 km/hr
i ge A 60% wfus g B) =i e =

o w0 B e T e (¢ 61 km/hr

fa) 6

fb) 6% fd) 6 km/hr

fed ?%

fdl 8 15. wF h-uiEg w5 wefe e o gl

F WA % wged o unfeE F ame %

12. TF 99 & 70 7% Uelt ) 26 4 fime d v g #1 Ui gl w4 TR W B, @

wehdll # ol uw @1 4w g 12 filE #) of oift @d 4 feA e = e o B

T T W OvE we ww W Ao 1 T B

e T A s w0 s

fa) 6 Tz

® 4 fr for o0%

fe} 3 fe) 6B6%

fd) 2 iz i) T5%
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9. I the third term of a GP ia 4, then the 13. The diameter of a wheel iz 1-26 m, How

product of first five terms of the GP s far will it travel in 500 revolutions?

3

fe) 4 fal 1492 m
4"‘

(i (b} 1980 m
fe) 4%

fe) 2530 m
fd) 4°

fdl 2880 m

10, Two unbiased dice marked from 1 to 6
are tossed together. The probability of
the sum of the outcomes to be 7 in a
single throw is

14, A man rows at & km/hr in still water and
with the same effort he rows 45 km/hr
against the stream of a river. What is

fa) 1/6 the speed il he rows (with the same
fb) 2/3 effort) along the stream of the river?
fe) 4/13 fa) 7} km/hr
fdl 713

fiy 7 km/fhr

11. A can complete a work in 12 days. B is
B60% more efficient than A, The number

of days taken by B to finish the same fel ﬁ‘% km /hr
work is
fal & (d) ﬁ;]; km /hr
oy 'ﬁlz
g 71

15. The transportation cost charged by a

i & shipping company is proportional to the
square root of the distance and

proportional to the volume of the parcel,

12. A water tank can be filled by a pipe in If the distance is increased to 4 times,
4 minutes and by a smaller pipe in how much volume of the parcel can be
12 minutes. If both the pipes are opened tranaported with the same cost?
simultaneocusly, in how much tme wnll
the tank be flled? fa) 25%
fa} 65 minutes (b 50%
fh) 4 minutes
fe/ 3 minutes o Bk
fd) 2 minutes fdy T5%
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16. TfmE % Frefefa = | g 4, aaf B
# wrer wl wE 2T

fa) B BT T IO WA
b) 8w A Frsf (Raf)
fo) I HET A FeEEE W

fel} =T WS TR

17. T Tfim @ % fow uw e wnbdier B
T AR wuiE 26 W TEas wee R
Tk argen dfetas ameE ame fEen

faj 301 °"C
) 614 °C
fel 275 *C
d 273 *C

18. wdt gft wEn (Sd) = wifa ¥
fom v womm wdw fi ApEn g e
Bt i

fa) TRt S w1 v~
fb) FTeR Fmg w5 -
o) TRl ST T S
fd) R Ferd & =

19, UH T s A o w8, wife

faj AR F ufEdA % wRO SEEEE W=
SyETAE e =

(b) T w9 | W T Ioataa wn

fo) Tafim ami & =0 9 wEm & s
B #

fd) W fada wm
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20. vait & gAsE 8w A s e ok
fa) T e () m
(b} TR gl T
fo) wfieft @ Tl gEi w
() ot

21, UF vE § @ afiwes, W oF gead em
i &S % ol & gfen W w4 R e
e Fm-di &7

fa) SO,

(b) NO,

fe) €O

fd) €Oy

22. Fefafan & & *9-m o= wg@ wedEEn

A D T §7

fa) R (Li)

(b) W& (Na)

fej wiefEm (K)

(d) ¥HEiETH (Rb)

23, WERRE  (P), TEw (5), wWWHA (C]) W
e (F) o § @ R waiie e

a1 AN O e giE wied @
o - 57

fa)j cl¥mp
fb) FHRrs
fe) F 3l
fd) P3ns



16. Which one of the following pairs of 20. The horizontal component of the earth’s
quantities has ne length in their magnetic field is zero at
dimension? :
fe)] magnetic equator
{a) Surface tension and angular

momentum fb) magnetic poles
fb) Surface tension and strain fe]  South and MNorth Poles
fe}  Angular momentum and mass {d} nowhere

density

(d} Pressure gradient and angle 21. Two reactants in a flask produce bubbles

of gas that tum limewater milky. The

17. A Kelvin thermometer and a Fahrenheit gas is

thermometer both give the same reading (@) SO

for a certain sample. The corresponding 2

Celsius temperature is about b) NO,

fa) 301 °C fe) CO

{bl 614 *C (d) Eﬂ2

fe) 276 °C

fd) 273 °C 22. Which one of the following elements

formz compounds with pronounced

18. The minimum length of a plane mirror to Alant che raEery

see your full length image is fa) Lithium (Li)

fa} one guarter of your height
{B) one-third of your height
fe}  half of your height

fed} equal to your height

(b} Sedium (Na)
‘{c}  Potassium (K)
fd} Rubidium [Rb]

23. Dut of the elements phosphorus (P,

19. Stars twinkle in the sky at night because sulphur (S}, chlorine (Cl) and

fa) refractive index of the atmosphere fluorine (F), the elements having the
changes due to the change of most negative and least negative
temperature electron gain enthalpy, respectively are
{b] stars emit light in the form of fal Cl and P
pulses
(b} Fand S
jej  of interference of light coming from
different stars jc} F and Ci
fd) of diffraction of light fd} P and S
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24, arad guoh % ordeiEl § awl o g R 28, Fefofias 4 @ =2 $9-m o0 &, s fn
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yitads FET SRAEEE, A T O §
oftafie = 30§ 3 s s B 27 {d] T W]
fa) TEXRETH HEN Wi
() W T H R EL L T m—————
fc) e AT dfEEm # Fuffum WA %) afEfn w0 g e
(d) ifEam ae wiRwEdm T 1 HAe e 37
26, o 39w wE A 8 fa) Sheketh Safbomn
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:7.Tm$1mqumm%MWﬁ (a)
fa) FEOGH fb) e
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fc) =M gz s
{d) wETET fd) AFm
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24. The number of elements in the

lanthancids of the periodic table is
fa} B
() 18

fe) 14
fdl 32

25. Catalytic converter transforma waste

gases from the engines of many cars
into carbon dioxide, nitrogen and water.
The catalyst is made of

{a) platinum and copper

fb) molybdenum and copper
fc}  platimam and rhodium

(d} rhodium and molybdenum

26, Which one of the following statements is

correct?

fa} Euplectella and Spongilla belong to
different phyla of Animalia,

{b} Sea anemone belongs to phylum
Echinodermata.

fe) Holothuria is a member of phylum
Mollusca.

{d) Scolopendra (Centipede] is =a
member of phylum Arthropoda.

27. In which part of the heart and circulatory

system of human body does
deoxvgenated blood flow?

fa) Aorta
fb} Pulmonary vein
fe) Left atrium

fdl Vena cava

GAIP-A-TNS/53A

Z8. Which one of the following is a diseass for

which India has not faced epidemic at
any point of time in the past?

fa} Cholera

{b) Plague

fe] Leukaemia

fd] Swine flu

29. Which one of the following cell organclles

synthesizes its own proteins involving
genes present in its DNA?

fa) Endoplasmic reticulum
(b} Plasma membrane
fe)  Plastid

fd) Lysosomme

30. Which one of the following is not a female

reproductive organ of flower?

fa) Style

fb) Ovary

fe) Pollen

{d} Stigma

| B.T.O.



31, Tr=fafias 4 4 fmm o=a § andz &0 flm 27
fa) femr== wEm
(b)Y T FIHR
fo) @D
() e

32, ffufim 4§ 4 ¥9-d sua, =% 9 waq
ot 27
fa) =TE=
b Tl
fc)
fep wTE

33. wEelE # W & agmiel ¥ fm @ weifs
vy w Ffefeam 4 & S 27

fa) FgEt
(b %A
fe) g ud
fetj g =

34. FERHEH § agEUE e F Fmoawe g

B T TR T wER SEEAE e W 9m
EIR

fa) =t T
(b} S T
fe) W]
fet) AT

as. wiidfn =3 =m 7
fa) HieTam 8 gm = fwm
(b wfft swf & T g
fe) =il st @ Iwfid aufaq
fd) e § s ==
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36. #rgs Al fem o woam 27

fej FTad
(b) TERE
fc) Fom
fed) T}

a7, Frefafian @ 4 ¥w-m 3 ety TeEy

T 3vE T e ey
fa)  HifE
(b} e
fe} #HEH
(d) TR

38. 74 ¥ i A, Foafofem # 4 d9-w daw

FH wE WM g wetem wedeaiee
¥l F 9% TeEd F wmem @ ol fom s
&7

fa) wErEE ()

b} TmE

fe) == ImaE

(e} = woE A v ()

30, e W I A gim ow v W@ W

Frefafem % 4 #9-m 87
fa) FH

(b} g

fe) A

fd) W



31. The Silent Valley is located in which one

of the following States?

36. Hirakud Dam is built across which river?

fa) Himachal Pradesh fmj Kawveri
(k) Jammu and Kashmir () Mahanadi
i fe) Krishna
jd] Kerala

(d] Godavari

32. Which one of the following crops is not

a Kharif crop?

37. Which one of the following countries does

fa) Rice not experience Mediterrancan climate?
ik Maize
Syria
fe) Wheat o
{d] Soya bean {b) Jordan
Lebano:
33. Which one of the following is the most (el =
dominant religion in Thailand in terms {d} lsrael
of its followers?
fa) Judaism

38. Which one of the following observations
regarding rivers is mot made by
fc}  Buddhism the (Central Water Commission
{d) Christianity operating through its network of
hydro-metesrological stations?

b} Jainism

34. What is the name of the first research

Water level ige
gtation established by the Government fa) (gauge)

of India for conduct of research at {b) Siit

Antarctica?

{a) Dakshin Gangotri i

{b) Uttar Gangotri fd} Shifting in river channel
{e) Bharati

fd) Maitri

39. Which one of the following is the largest

country of Europe in terms of arca?
a5. Darling Downs is a

{a) grassland in Australia fa} Spain
{b) barren land in South America fb) Portugal
] uﬂ;p:;i reinforest 1 South @ G y
fd} temperate forest in Canada fd} France
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40. w1 | g0 % T gifem i sl
i % AR e m g W owm s 'l oIm
i
-1 =11
(o) (e ¥ 3 wafim #)

A.

B
C

.

HHEA HETH 1. Wi (i) T

. TIZTEn FaEtee 2. umE (mFh)
. TIEEW FETE 3. WA EE-wE
o S 4. e
He
f@d A B € D
3 1 4 37
fb) A B L D
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fd A B © D
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ok B B
2 S

41. =12 w9 7 1902 A figw vmdm e

AR (R gfFaEiids wivm) = g #e
€7

fa) W Fafeam v
by a uiEa @

fe) TIE EERA

(d) Elo e H=ER

42, FAlY w@ WA W GEE £

faj T TEEES TG
(b EdwEETe 2
fc) TR w
(d) ¥z frEmwrn
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fal
(b}
fe}
fd}

RT3
ForraT - - e
fortrsr-g-gre
- - HeA

44, 1953 % U= g¥iE AR (SRC) § FR-as
s a7

fa)

)

e}

fid)

THo Fe T, A wem W i
Ho WMo ity

WA GERdTE 92E, Fe e gfipm alp
THo e BT

gl wwe well, Ty Few el
o e Tt

®o Uo YIWERT, TR SgWwE TiE A
Ayl w3

45. e HeW 0 % 4 A fefafus § 4 @94
F TH BT

L

2.
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it At | fiym

Tlen # 7 F Bmom smm &
o w1 o sy F R & e
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fafzm 3 38 wo Bm
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TH |

A1 faw T 2 W weim W g
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i)
fcl
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40, Match List-1 with List-II and select the 43. Aurangzeb had compiled the greatest

correct answer using the code given digest of Islamic Law called

Lists :
below the Lis {a) F Al 4 5y

List-T List-iT (b} Fatawea-d-fahandar
[Conpention) {(Primarily related ta) 5 ;
fe) Miraz-i-Mughals

A. Basel Convention 1. Organic pollutants {d) Fatah-i-Saltan

B. ERotterdam 2. Mercury
Convention 44. The States Reorganization Commission
C. Steckholm 3. Hazardous wastes ERE) QR LIRR AN ConsmiRe of
Convention ja} 5. K. Dar, Justice Fazal Ali and
K. M. Panikkar
[}, Minamata 4, Peaticides
Convention jb) Sardar Vallabhbhai Patel, K. M.
Panikkar and 3. K, Dar
e fe) Justi Fazal Ali, Hrida h
ustice 5 ynat
{a) 2 |l3 E E Kunzru and K. M. Panikkar
b} A B C D fed) K. M. Panikkar, Sardar Vallabhbhai
o 4 1 3 Patel and Justice Fazal Ali
fa A B c D
3 4 1 2 45, Which of the following statements are
fd) A B D true of Shah Alam 117
2 1 4 3 1. He joined Mir Jafar of Bengal to
fight the British. .
41. The !ﬂﬂiﬂ.n Universitiss _Cnmm:issir:n 2. He joined Mir Qasim of Bengal and
appmnttd b}l’ Lord Curzon in 1902 was Sil‘a,] ud-Daulah of Awadh to Eg.ht
headed by

the British.
3. He was defeated by the British.

4. He lived at Allahabad as a
pensioner of the British.

fej  Sir William Hunter
(b) Sir Thomas Raleigh
fje}  Lord Haldane

Dr. Michael Sad
L G Bl Select the correct answer using the code

42. Who was the founder of Brahma Samaj i Bclony,
of India?

fa) Raja Ram Mohan Roy
fb) Debendranath Tapore
fe) Keshab Chandra Sen f¢} 1,3 and 4

fdi Ishwar Chandra Vidvasagar fdl 2 and 3 only

fal 2, 3 and 4
b} 1, 2 and 4
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46, wrigeme 1% 9 4 Fefafan 4 3 99-3 s 50, 1944 # 7idfi-foen i % swea 79 w1 sn

He Y o

1. =% simee =5 Iafie 9 fa) A

2, g*ﬁﬂﬁﬁﬂﬁmﬁmm (b) v = e
: fe) TR TE

3, glmﬁlﬁ'ﬂ?ﬁﬂawﬂﬂiﬂﬁm’rﬂm (@ iz P e

4. 39 g SR 5 v e R s51. 1922 # frwd 3F B ‘Rl m

A o T g W w wd T g 7

fa} 1,233 fa} =i e

(b) 2,334 (b) T AEAR

fe) Fam 2 #na fej == THEE

fd) 13 a

{d) AT AR

47. SEm-u-3m ) T 52. T # Be wdwem sl § sgaft = s

fa) TEEE FE T HIE Ry
(b TR TEEAT AT WEA P S o,
[« Bk fb) =ed fafeEg
fd) T " T i
48. 1920 ¥ fE S fnfEmm sl S M owm (d) ot #feEm
T FgE e = i o7
fa) wfazA™ T= 63. W faferam siFa 4 fem ol ' vfifes damf
fc) @m fa) 1782
@) e ie
fc) 1786
49, i T (s=) |l wie A Faafafaa 4 fd) 1791
# Torm T oen & wadaa B & e ofes
a7 54, 1942 & uft wFR F1 s g @
fa) fa) e & sem §
b} @ (b) T * Fawn (g=ta) &
fe) = fc) Y weH & Y@ A
(d) ¥ET (d) weTTE % T A
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48. Which of the following statements are B0. The basiz of the failed Gandhi-Jinnah

true of Bahadur Shah 1? Talks of 1944 was
1. He succeeded Aurangseb. fa) Wavell Plan
2. Hh?nha.d to fight his brothers for the (b} Partition of India
throne.
3. He reversed many policies of his {c) Rajagopalachari Formula
predecessor, fd) Cabinet Miszion Proposals
4. He ordered for the destruction of
some temples. Bl. In 1922, who referred to Lenin as ‘the
Select the correct answer using the code Dear Leader of the Kisans®
given balow, fa) Swami Vidyananda
fa 1, 2 and 3 (b) Swami Sahajananda

jibl 2, 3 and 4

fe} Baba Ramchandra
fel 2 and 3 only

fd! Jewaharlal Nehru
{d) 1 and 4
. 5 §2. Who among the following translated the
25, The P A Feista Manusmniti into English for the first
fa} a collection of popular poetry time?

fb) the hall of public audience
fc) the senior most citizen
{d} arank in the Mughal Government

fo} Sir William Jones
fbl Charles Wilkins
fel M. B. Halhed

48. Whao issued an Independence fd) Warren Hastings
Proclamation in 1930 in the name of the

Indian Republican Army? B3. The Asiatic Society of Bengal' was

fa) Sachindra Nath Sanyal founded by Sir William Jones in the year
jb} Chandra Shekhar Azad (a) 1782
fe} Surya Sen b) 1784
jd] Bhagat Singh © 1786
49, The Congress leader Swami Ramananda {d) 1791

Tirtha was active in the [reedom
strugele in which of the following

B4. In 1942, the Prati Sarkar was started in
Frincely States?

(a) Kashmir ja) Belgaum in Karmataksa

(b} Mysore (& Chittagong in Bengal

fe] Barods fe} Guntur in Andhra Pradesh
fd) Hyderabad fd} Satara in Maharashira
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56. Fefoian 4 @ fem sfufam 3 o

55. 1967 § TH-Hl WE UF WiEAwTE g6eT gm

UgE RN 9w wme oo #
wfefem i e

fa)
(b} Tad
fe) i)
(d)

4

TR FEmfel wfmg &
wfafe “W-werdt weel W sinETe
TRAET

fa) v gitw afafEe, 1861
{b) v W wfafEm, 1910

i §

fep wTeE wER wiufEy, 1858
fd) wE-fit gum, 1900

57. Pafafim & @ fm wfafrm 3 wa @

Uk e R

fa) A W iy, 1919
fb) v wrEn safulEn, 1935
fe) vl iy sififem, 1000
{d) Wi wEEEm aiaEm, 1947

58. Frafofiaa & & fam faurnizs 3§ wolln =

HiufEm, 1947 % g Bt
fa) Tafen wan

fb) W HHE

fe) Taftm-wfa vwm

(d) =5 Fum wa
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59, wia % #hwm ff wfim, @ 26 =,

1940 F1 a6 7 f, g wmm W
=i &R w8 w8

1. WY@-A7% T

i il

3. UuEEE T

4. WHFEEYE TR

it faw T = W W) T afg
@) EA 1

b FEe 1 #Aw o

fe) ¥=e 2, 3 34

@ 1,2 334

60. WA ¥ & wEw § Fefafen § & $w-m/a

T Tl BT

1. wrA w9 ofma 6 s SAfE
e ) uifg wfis R

2. wate niwal @ F fifea )

3. WA W9 Ok TR U oggs B W
wauw afiren #)

A 5T T 2 W = wd I g
fa) A 1

(b} @ 1 2

fc) Em 2 33

fd) 1, 2 3w 3



57. Which one

BB. Which

55. In 1967, which language was added

to  the list of major recognized
Indian languages by a Constitutional
Amendment?

fa} Pashto
{b) Sindhi
fc) Garo

fe] Konkani

56. Which one of the following Acts provided

for the inclusion of certain additional
‘mon-official’ members in the Executive
Council of the Governor-General for the
first time?

fa) The Indian Councils Act, 1861

{b) The Government of India Act, 1919
fgj The Government of India Act, 1858
jef] The Morley-Minto Reforms, 1909

of the following Acts
introduced Dvarchy’ in the provinces?

fa) The Government of India Act, 1919
fb} The Government of India Act, 1935
fo} The Indian Councils Act, 1909

{d} The Indian Independence Act, 1947

of the [ollowing legislatures
passed the Indian Independence
Act, 19477

{a) The British Parliament

{b) The Indian Parliament

fc) The British-Indian Parliament
{d] The Central Legislative Assembly

GAIP-A-TNS/53A
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59. The Preambls to the Constitution of

India, as adopted on 26th November,
1949, originally described India as a

1. Sovereign republic

2., Democratic republic
3. Socialist republic
4

Secular republic

Select the correct answer using the code
given below,

fa] 1 only
Bl 1 and 2 only
fe} 2, 3 and 4 anly

(d 1,2, 3 and 4

60. Which of the following statements in

respect of the Union of India is/are

correct?

1. The Union of India is more like
the Canadian Federation than
American.

2. Residuary powers are vested in the
Union.

3, States of the Union of India have
constitutional right to secede.

Select the correct answer using the code
given below.

fal 1 only
Bl 1 and 2 only
fe} 2 mnd 3 onby

fc) 1, 2 and 3

[ P.T.O.



61. WA & yum & = # Foafafan 4 & S9-m)R

weA e R
1. o Tt % e wafae ¥

2. wum s A e 9w oeudy el
FaTfEE €|

3. ¥Ed 39 e ywm afEfem feo
wewd

A9 fow 0 2 W wim W I g
fa) a1

fb) a1 iR 2

fe) *am 2 33

fd) 1,233

62. Wit ¥ wfwm ¥ agem Pt § @

-1/ FE ) &7

1. W % 6§ ®ORA F99 I #
arii = 7w B

2. @ e ¥ et § s 6 aeeEe
S W & AR w0 T

3. TF-Ews #dn afiefs-aEa =
;ﬁﬁnmﬂlﬁmﬁmﬂiﬂrﬁiﬁm

s fiw g = W e g

fa) e 1

(b) ¥ 2

(c) a3

fd) 1,233
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63. 8 witwfs i ofufEw 3 9 w

= o oo @ e wd oo B oam &
wet 7= F Faes S s fen e 6
=myE

fa) 8531w sfufem
b} seal @A sfifEs
fe) s7af "y sfifas
fd) ssal wareR sfifas

64. A & HEAUEM = TH-W AgEk sewEEE

Tl & s wwm mnfm w0 o dafem
A W ST 3o R &Y

fa) =R 27
(b} wg=da 28
fe) =TT 29
(d) =i 30

65. =g F Hift * fidve = & andim fsfufas

1 H FH-1 TF =Y TR
fa) =W A W Al

) ©: = A Fm oy Fows] B o
T ¥ T o fan = 3w

fe) wm & Wit wri § A o\
(wmgfers) vt ) sl ) s

fel) AT 1 AT § e



61l. Which of the following statements about 63. Which Constitutional Amendment Act

the territory of India is/are correct? enjoined upon the State to provide
1. It comprises of the territories of the ﬁ'ﬂ: and compulsory ed1_.:_catmn to all
States children of the age of six to fourteen
’ years?
2. It comprises the Union Territories
specified in the First Schedule, fa) The 85th Amendment Act
i ired
3. :;ﬁnt::_:,llﬂmnlude other acqu () The 86th Am o
Select the correct answer using the code fe} The 87th Amendment Act

i lowr.
gy Dalow (d) The 88th Amendment Act

fa) 1 onmly
64. Which Article of the Conatitution of India
(B L. ane 4 Ry provides for the right of minorities 1o
fe} 2 and 3 only establish and administer educational
institutions?
fd) 1,2 and 3
fa} Article 27
62. Which of the following statements (b} Article 28
according to the Constitution of India
isfare correct? fc}] Article 29

1. Eguality before the law is available
to the citizens of India only.

2. Equality of opportunity in the

{d) Article 30

matters of public employment is 65. Which one of the following is not a

available to citizens of India only. provision under the Directive Principles
3. Right to freedom of speech and of State Policy?

expression is available to all

persons residing in India. fa} Right to work
S_elt:ct the correct answer using the code oy ﬁfg: fﬂT :ﬂrt'lu].r :h:.'l!dh:ndb:::}mw
given below. cation hildre

the ape of six years

fal 1 only (e} Promoting harmony and spirit of
common brotherhood amongst all
b} 2 omly the peaple of India
fc) 3 only
fd}] Separation of Judiciary from
{dl 1, 2 and 3 Executive

GAIP-A-TNS/53A 19 [ B.T.O.



66. T e e = e e

(a) T Ao S

fb) ¥o THs TN

fc) wEE fgEEE
{d) T wew

67. ‘UEEw & = fafafee § 4 Sem e
e e Bl

fa) ae TirEms Taids w fofm =

1T B

fb) TE WH-wieHaE (wifEEm-fEid) -
T, wia-wmraarE) =6 |

o) T w=AE T R MAEE R g W
Tt e = ffafE

(d) T @FR F Al s #1e W e
fam

68, T & Fwfi weam gm Pofefem § @
wH-m /4 Fiter avm e a3/
I #7
1. =ik gwedl 4 el @ w=Eaa
(afew)

2. Tawns fie & w9 % swia foed @
LS GELH

3. w1 dEn § e TE-mmn

4. WE T HE F sEla [ B, TR %
o w7 2 i e
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4 fan m g2 = W w5 el I g

fa) =& 1

b)) 2,334

fo) Faw 3 3R 4

fd) 1 34

69. 7 g8’ F Wi @ fafufm § @ SR-w@
w T B R

1.

3.

U WA e i i i e %
Hre reifes oin &= wiERm W 2a
wam &

i ga 289 fogm o gam o (% de
72 W) % fi= F =61 @ o 3fm v
B

T Y= vs fifew wen F wEER oW
TE wm f, T fadmen memhs
g ¥, Tk g frawam 1 8@

= 2 g e A I g

fa} =

(b) Em 1 32

fe) = 2 3l 3

{d) 1,233



66. Who has coined the tertn “global village™ Select the correct answer using the code
given below,

faj Hans J, Morgenthau

ik E. H C o --emy

fe)  Marshall McLuhan By 2, 3 and 4

fd] Richard Falk fe} 3 and 4 only

&7, Which one of the following statements is e ot %

not true about Perestroika?

fa} It is the name of a book authored

69. Which of the following statements about
by Mikhail Gorbachew,

‘Cold War' is/are correct?

It refers to the political and military
rivalry between the United States
and the Soviet Union.

(5} Tt was anti-Stalinist but not L
anti-soctalist,

fel It reflected Gorbachev's ideas on 2, The Cold War also refers to the

68. Which of the

the creation of Commonwealth of
Independent States.

{d} It emphasized a return to the ideals
of Lenin.

following  is/are
privilege/privileges  cnjoyed by a
Member of the Parliament?

1. Freedom from arrest in criminal
CAsCSs

2. Freedom from arrest under a Law
of Preventive Detention

3, Freedom of speech within the walls
of the House

4. Freedom not to give evidence as
witness, unless permitted by the
House

GATP-A-THS/534A

yvears between the Truman Doctrine
and the Khrushchev Thaw.

3. The term refers to a certain kind
of behaviour, characterized
by  superpower confrontation,
unaccompanied by ideology.

Belect the correct answer using the code
given below,

fa} 1 only

fB) 1 and 2 only

fe) 2 and 3 only

fd 1, 2 and 3

[ P.T.O.



70. T # FA AR . T ERUR B #@E

Feforey % Tafgm §7
fa) FTE WEH

fb) TR
fc) e ME AfF

(d) FrHTgE]

71. 2018 § TR mewm g fiefafem 4 8

e e ® ‘wE WlE 7 o (wd W ow=)
wiftg ferm wn g7

fa) YE2-ZH
(b) Tt
fe)

fd} =T

72. FEET 2018 § wgw Tp gen iy 3

Frafefigs & 8 feu sofrdfl 3w @ et @
| oMy gy ieEw, A gwel, giwg
S S ik sl 1 e
fa) iz

(b) wTEE

fc) ot

() s
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73. WA AR Wi % Peefafas 4 9 fR oS

Toell i 20 @& TE- SO A HER
TR W e R

(o) GEE-FFER Wi
(b} AT -ARETE
fo) TRETEG-SAw HifkE

fd} TEEE-TREE

T4. TEE FE TEEE Wi F 14 e ()

T ot ey Freiferfi # % =9 -40 47
fm) 3TTEEn H AR S

(b} Torrer g

fe) = s et

fe) W S A

75. J@=E 2018 ¥ W R 4 wamn T

“Fren-2018 ww wie o 8, feoem am
T amen &

fa) v fEm gereR B
fb) it TE 9rd faeee HEEE T
fe) wH2 TEEE T

(d) HEwfd ey g



70. Who among the following has authored 73, Which of the following twe districts in
Imperialism : the Highest Stage of India and Pakistan are proposed to be
Capitalism ? connected by the Dera Baba Nanak-

Kartarpur Sahib Cormidor?
fa) Karl Marx

fa) Amritsar-Nankana Sahib
jb) Antonio Gramsci

b}  Amritsar-Narowal
fe) V. 1. Lenin

fe) Gurdaspur-Nankana Sahib
fe}] Luxemberg

id) Gurdaspur-Narowal

71. Which one of the following is declared
the Word of the Year' for 2018 by

i, 74. Which one of the following is the theme of
the Oxford Dictionary?

the 14th Formation Day of the National

Dizaster Management Authority?
fa) Post-truth

fe] Early Wamning for Disasters
fbl  Youthguake

o (b} School Safety
c apt

i@ Toxi je) Disaster and Preparations
oxic

e} Awareness and Disaster

72. In November 2018, the United Nations
Security Council has lifted the arms

embargo, travel ban, assets freeze and 75. Hausla-2018°, held in New Delhi in
targeted sanctions previously imposed November 2018, is a national festival
on which one of the following African organized by the
countries?

fa) Ministry of Eural Development
fa) Eritrea

(b} Ministry of Wemen and Child
b} Somalia Development
) Djibouti fe)  Ministry of Tourism
fell  Ethiopia {d] Ministry of Culture
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qr—B
( ek Frwwer )

76. PETN w1 87 79. el FmEr wwfem &3 F T TR T e

fa) = TEER e g
(b) TmiETE TR
fc) ToiTe wifireta 2grme
(d) =T A F H

T7. Tt W M-I aUEE S wied B R

A A e d, @ g Al e wm@
w1t | Frfafem # & P-m o ol T 2

fa) wFafeEl it sm o & o g W
Tawite =

b MAMTR I TF T AMBEW®
eI 3

fc) rmferEl &1 witw & Pl s
fd) 3% Tad 3w e gem

78. T e g § vs N gim w0 % g

s g oo A @ W §) Frafafea 3 @
FH-H A0 | U T 8 Y

fa) 3R o ufesli @3 @90 9 w
IqeE EH SR

(b) TiEmEd wew s s o w e
LRl

o) =l T S v A sl v e firg
o =iy dn ww off dE-iE e A
T =i

(d) T % wom ffi § 3= Tee B =rfee
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=l # Tl 4 & T 9w 9 s

=eu?

fa) #R (dEm #) = R s e’
wis wew w5 wEn

by Tl off gin & s N swm wEE W
wH ¥ Fm i T IED 4 99
weet

fe) A TE % wE o dE & wm & e
afem h =

fd) @A (=) § = v oo o 6
ferfa =1 wm § wn

80. v swgn Tam el Wl B o e

¥ = wfEm wigEn wel w37
fm) HEA-TY

(b) sTevTE EE

fe) T

(d) 3 B & G A

81. Fefaiam § 4 ¥9-m/a8 d3 sl s

WO W e ¥R

1. Tamrm ds

2, Tagg &

3. T S A

= o T W owm w we e i)
fa) =@ 1 32

(b) e 3

fc) FE= 2 33

fd) 1,23M3



PART—B
( Professional Skills )

76. What is PETN? 79, Which one of the following should be

faj Pentane epinephrine tantalum nitro
{l} Pentaerythritol tetranitrate

fe} Phenol erythritol tetranitrate

fe) Wone of the above

77. It is difficult to recover frearms from

Maxals. If you are going to do so, some
points should be remembered, Which
one of the following is not correct?

fa) Assess the distance between the
Maxals and yourself

{b} Observe the firearms they are
carTying

fc) Assess the strength of the Naxals

{d} Open fire as scon as you see them

78. To secure an outpost in a deep jungle

area, several points have to be kept in
mind. Which one of the following is not
one of them?

fa) Binocular and night vision devices
should be available in the sentry
post

{b) Construct firing trench and weapon

Bl. Which of the

aroided by the patrolling party while
patrolling in an extremist affected area?

fa} Use the Kacha' established road
instead of making cross-country

fb) Watch out for any mine or look on
the road as it may be linked to IED

fcg Maintain a proper distance
between front and rear of the
patrolling party

jd) While walking in formation, keep
your own position in mind

80. A hijacked aireraft on landing at an

Indian airport is procedurally parked at
(e} runway

by isolation bay

fe] apron

(d) Mone of the above

sectors
eritical  infra-

following
isfare regarded as
structure?

1. Awviation sector
2., Power sector
3. Atomic energy seclor

Select the correct answer using the code

pits given below,

e/ There should be only one entry and fa) 1 and 2 only
exit point and it should be in zig-
i Batisin fB) 3 only

(d) During night, there - should be
bright lights inside the camp

GAIP-A=-TNS//53A

fe) 2 and 3 only
(d] 1,2 and 3
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B2

B4,

w2 fmmeedl g g swE i me & R
Frefafiam 4 9 99 ameErh @ 27

fa) EATE WHEAl SafiRE

jb) T FEwE

fc) ASG fgam wy gy

(d) HeElum wa S e e

BCAS * w{an 9% =7om e s (fede)
e OB wiftn, wi o= wm-t o
A (whifm) oI 5= T

fal 1024 x 768

b} 1200600

fo) BB4 =226

fdj 100x 1000

aftrsizins W fam amm &

fa) =4 % qEn Grnfafa & o

(o) TorEr & wam d4 iy ¥ fom ow
v g i W

fc) T FEIZE ® WY w9 F RBm

() Tewsiz & fena & fom

TNT %1 Wifirs w=a Foafefas § 8 $9-m 87
(a) 3@

B} T ()

fe) S (wEEE)

(e} =& ()

Ttz axged i1 few Aol & stafa $9R o
L 1]

fa} TR (FEE)

(b} T T

fe) @A ey

fd) Tavgies
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87, Fr=fafias 3 4 SR-d ff omow & gemes

TG e 6 wE R i dd b
fa) |iie fafa (e dua)

(b} =% Tai (= duz)

fe) vt fafe (FRm fus)

() smEdt-fordl (weween) ffy (Gewse
)

88. Tl s wE fafy R dwm (NicEs)

fomr ifirfet & wftiem % for o s 87
1. yfem st

2, 7 TF guwe ) A

et fom T e = wE wOEE I g
fa) A 1

(b) ¥ 2

fe) 1 3w 29+

(d A# 1,32

89. fdl fiom 4 =R wwia s oo & =

At & wgEn w0 B
faj BCAS

fb) NSG

fe} DGCA

(d) TEFTE EEE

90. et T wofl (qwemE) Tl 6 oweEh &

A R R et F e % B
Frefafis § @+ fadEn dm

{a) BCAS

(b) TS el

fe) TATTTER wEEE
fd] ASG/APSG



B2. Who among the following is responsible BT. Which one of the following does not form

for security of nairlines at smaller a method of search for clues at scene of
airports? crime?

fa} Airlines Engineer fa) Spiral method

{b} Airport Director fb) Wheel method
{c} ASG Control Room in-charge

fel Sitrip method
Station Manage f concerned
(@ B;fh“ Aime - {d] Cnsscross method

83. As per BCAS, what is the minimum pixel 88. The National Institute of Criminology and

count that an X-ray machine at the
screening should be able to produce?

fal 1024 x 768
(b) 1200 x 600
fc) BG4 x 226

{d) 100 % 1000

B4. The detonator is used

fo) as the main mechanism in the
bomb

jbl] as an optional device to increase
the effect of the explosion

jc) to initiate the main charge
jdl to delay the detonation

85. Which one of the following is the physical

form of TNT?

Forensic Science (NICFS) is an institute
for training of

1. Police Officers

2. Judicial and Correctional Service
Oificera

Select the correct answer using the code
givenn below,

faj 1 only

fb} 2 only

fe) Beth 1 and 2
fdj HNeither 1 nor 2

89. In any aircraft, Sky Marshals travel

according to a schedule given by
fa) BCAS

A Bl NSG

e o pecs

(e Jelly fd} Airport Operator
jd) Liguid

B6. Ketone comes under which category of

prohibited items?
fa) Weapon

90. Who among the following is responsible

for disposal of articles seized during
search of an airline passenger?

fa) BCAS

{b) Dangerous article (b} Airlines
fe} Dangerous substance fe) Airport Operator
id] Explosie fd} ASG/APSG
GAIP-A-TNS/53A 27 [ B.T.0.



91, TRl fmm 4 9@ =9 99 =E i F 94, T Srwe, A fGum o me F v Bae S

Fr=fefim 4 & fm o 6 wle guasi w3 gum % o e A b,
T T AT w1 w7

fa) BCAS M =M I8 TGs9-95 (a) WIEEE 3 FEAEE

(b) HEET-TH (b) e FHIE

fe) =Ew wTE fe) Fr-ureR (we-RueEs)

92, TTH ¥ A T WO g whER W @ 95. wH urhl, Rt F-1 w T & feg vew

fore %t miftrga &7 WA B & o fdE ol e R, 91 W we
#7
fa) VVIP % PSOs
fb) TG WTEE R
P T S—— fb) & arh (SFeE i)
(@ SPa wE, W & s @M § B 15 SRR 20 S
Heen 9 W ol R

(d) Tt weh (fdds dim)

93. T fauATA ® wmE fem wmE F fe

Frerferfias 8 B 9 oo &7 96. Frefafigs i @ #F-m o 7= frres T 37
fa) FErT T {a) PEK
b} T HERR b} TNT
(c) BCAS fe) PETN
(d) APSU/ASG ) Fsle
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91. Which one of the following decuments of
Sky Marshals travelling on an aircraft is
required to be checked by the security
personnel?

fa) Weapon authorization paper issued
by BCAS

fbj Identity card
fe} Aadhaar card

{d} Letter issued by N3G

92, Who iz authorized to carry a loaded
weapon during flight?

fa) P30s of VVIP
fh} 8ky Marshal
fc} Passenger holding valid license

jd} SPG personnel when accompanying
their protectee

93. Who among the following is responsible
for access control to an airport?

fa) Alrport Operator
{b} State Government
fc) BCAS

el AFSU/ASG

GAIP-A-TNES/53A

29

94. The pilot whe is responsible for operation
»  &nd safety of the aircraft during its flight
is called

fa) Pilot in Flight
fb) Flight Commander
o] Co-pilot

{d} Pilot in Command

95. A passenger who has checked in but not
reported to board the flight is called

fa} Gate no-show
fb) Cancelled passenger
fc) Transit passenger

{d} Deported passenger

96. Which one of the following 1= not a high

explosive?
fa) PEK
(b) TNT
¢/ PETN

{d} Cordite

[ B.T.O.



o7. T zw=m, il Tt &' & =0 3 dtfim
T B, ¥ A CISF # fefaRm 4 @
FH-H1 w1 T wed ) wh &7

fa) wfFEz ¥ =5 =Ew W fEen f s
Torm aiz % firww =@ ) ofs

(b) ARz A AEW UM A % owm #@
TR 4 i wive

fc) Prwm w4 1 Al & oy-ae IwgE
HEE! § WHEA 54 & e

() Fewem =@ 6 ofs #w =fw w3 R
w1t

o8, & o § s = w CISF g Frefaiaa
1 = e w0 EwES T R
fo) FETA % e G ARl R g
fb) = = e A dwa

fc) =wd B@ (W fiis) w e sl
wge-a9 F1 Wl (gw) 9 3 ves =

(d) T# FIRs 1 00 3% %
90, TRyl W @2 wEE X-BIS 99T wEFERE
Tirm g 91 =m0t B
fa) i i
) T s (FiEmd)
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fe) w8 W Ui

(d) Taga-gram fafem

100. Tt 30#g & CISF ¥ sfinre (W) &+ vy

waltn IWEn g0 s W R wen afim
e &7

fa) CISF % 3: W & wits frs % su=
Tt

b} CISF ¥ #R ue & wifts fre % s
T

fe) CISF % &1 W & =it Tam & ammen
ufh

fd} CISF % U #E & nifts e % -
EAIE ]|

101. Frefafm 4 @ @fw-m wwd A’ &l f am

w1 Hie AT

(@) TS

(b) SR TEA ()

fi}  HTTA

fd) ¥ (=)



9T. Which one of the following legal powers
has been conferred on CISF deployed
at an undertaking which has been
declared as a ‘prohibited place™

far}

ib)

fe}

fd}

Power of arrest without any order
from  Magistrate and without a
warrant

Power of arrest only with an order
from Magistrate

Power of arrest along with power to
grant bail in suitable cases

Power of arrest
investgate

and power to

98. During a fire in a building, which one of
the following is met required to be done
by the CISF?

(a)

(b

fel

(e}

To rescue persons trapped inside
the building

To stop spread of fire

To call the fire brigade and help the
approach area clear

To start registering FiREs at once

98, Stand Alone XBIS machines at airports
commonly work on the principle of

(a}

b

ionn mobility spectrometry

gas chromatography

GAIP-A-TNS/53A

fc

(d)

backscatter technology

electromagnetic radiation

100. At the time of induction of CISF in an

undertaking, the

concerned  under-

taking is required to deposit

fa)

b

fe)

fed}

an amount equal to six months
monthly billing of CISF

an amount equal to three months
monthly billing of CISF

an amount equal to two months
monthly billing of CISF

an amount egual to one month
monthly billing of CISF

101. Which one of the following substances is
not a source of ‘A’ class fire?

fa)

(b}

fc)

(d)

Wood

Stainless stee]

Paper

Jute

[PT.O.



102, wH=rl wias Ffa e vl agEw sfuf,

1952 % #oia Fefafas 4 | ) offa
form w27

1. == ufs fifg

2. T S-S, S e ()
3. w0 v ool e (sveve) S
4,  wd=nlt Buans) ) Sm

A1 i ez w0 wEm w2 w3 gRm
fa) FEe 2, 3 AT 4

b AR ] 34

fe) e 1, 2 ¥ 3

fdi 1,2, 334

103. ‘U2z @ (g oam)’ ¥ fwmm & oagw,

A o6 wiwn vl wftfem, 1923 s
¥, ok wiwn 2y freiee = Sifaw 5 g
I T FE www, TR gHen F owm
L
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102. Which of the following are included

under the Employees’ Provident Funds
and Miscellaneous Provisions Act, 19527

1. Employees’ Provident Fund

2. Employees’ Deposit
Insurance Scheme

Linked

3. Employees’ Permanent Total
Dizablement Pension

4. Pension of the Employees' Widows

Select the correct anawer using the code
given below.

fa] 2, 3 and 4 only
fb) 1 end 4 only
fe@ 1, 2 and 3 only

fdl 1, 2, 3 and 4

103. As per the doctrine of ‘added perl,

as applied to the Workmen's
Compensation Act, 1923, a workman
cannot hold hiz emplover Hable for the
risk if at the time of accident the
employes

fa) undertakes to do something which
the employee is not ordinarily
required to do and involves extra
danger

{k} remains absent from place where
he/she is supposed to work

fc} 1is under the influence of alcohol on
duty

jell i3 working on an  overlime

assignment
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104. Who among the following can apply to

the High Court to set aside a declaration
of State Government under Section 95
of the Code of Criminal Procedure, 1973
to forfeit any newspaper?

f@} Editor of the newspaper
{i) Publishing house of the newspaper
fe} Any employee of the newspaper

{d) Any person having any interest in
that newspaper 2

105. A is a driver of a van which carries cash

to refill ATMs of a bank. B is security
personnel and authorized to refill that
cash in ATMs. At a red light when B
steps down to ease himself, A on the
pretext of taking turn, runs away with
the cash van. At which of the following
points is the commission of theft
completed?

fal] When A unloaded the cash from
the van

(b} When A turns the wvehicle in a
direction other than the pre-
determined route

fol When B steps down from his van

fd] Neone of the above
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106. As per the provisions of the Indian
Evidence Act, 1872, opinion of experts
is relevant when it is related to

(a)

fb)

fc)

(d)

foreign law or of science or of art
or as to identity of handwriting or
finger impressions

law or medical science

finger impressions or art or medical
science

MNone of the above

107. Which one of the following statements iz
not correct?

fa)

()

(e}

(d)

The contribution pavable by the
emplover to the Provident Fund will
be 10 percent of basic wages only.

The contribution payable by the
emplover to the Provident Fund will
be 10 percent of the basic wages,
dearness allowance and retaining
allowance.

The contribution of the employees
to the Provident Fund will be also
minimum 10 percent,

If an employee so desires, he/she
can coniribute more, but the
employer will not match this
contribution beyond 10 percent.

GAIP-A-TNS/53A

108. What is the maximum time Lmit given
under the Workmen's Compensation
Act, 1923, for the dependent to claim
compengation in the event of death of
the workman arlsing out of or in course
of employment?

(@)

&)

fe}

Six months

One year

Two years

fdl Three vears

109. Who among the following officers is not
authorized to dispense an unlawful
assembly by the use of civil force?

fe}

(b

fc)

fed)

Executive Magistrate

Officer  in-charge of the
station

police

Any police officer not below the
rank of a sub-inspector in the
absence of officer in-charge of the
police station

Any constable attached to a police
station

| P.T.O.
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110. Afinds a ring belonging to Z on a table in

Z's house. A dishonestly removes the
ring. A has committed the offence of

fa) criminal breach of trust
B extortion
fe} theft

{d} misappropriation of property

111. What is the punishment provided for

theft committed by clerk or servant of
property in possession of master?

fa) Imprisonment for a term which
may extend to 7 years and fine

fb) Imprisonment for a term which
may extend to 3 years and fine

fe) Imprisonment for a term which
may extend to 5 years and fine

fd) Imprisonment for a term which
may extend to 8 years and fine

112. Which one of the following is not correct

with respect to the offence of mischief
by fire or explosive substance with
intent to destroy house?

fa} Imprisonment for lafe or
imprisonment for 10 vears and fine

{b} HNon-cognizable offerice
fef  Triable by Court of Sessions

{d} MNon-compoundable offence
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113. X, a revenue officer, is entrusted with

public money and is directed by law to
deposit the money inte a certain
treasury. X dishonestly appropriates
the money. He has committed the
offence of

(g} misappropriation of property
(b} criminal breach of trust

fe) theft

fdl cheating

114. Which one of the following statements

with respect to confession under the
Indian Ewvidence Act, 1872 iz correct?

fa) Confession made to a police officer
under Section 25 is admissible.

) Confession obtained by threat or
inducement by a police officer is
admissible.

confession is

fe)  Involuntary
admissible.

fd} Confession under Section 27 is
admissible,

115. The Board of Conciliation under the

Industrial Disputes Act, 1947 consists
of

fal a Chairman and two or four other
members

fb) a Chairman and two Deputy
Chairmans

fel a Chairman and three
members

other

fd} & Board of five members appointed
by the Government

| B.T.O.
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116. Who among the following is ineligible to
be appointed as the Presiding Officer of
a Labour Court?

fa) He is or has been a Judge of a High
Court

(b} He has been a District Judge or
Additional District Judge for a
period of 3 years

fe} He is a practicing lawyer for a
period of 15 years

(d} He is an officer of Indian Legal
Service in Orade III with 3 years
experience in the Grade

117. The total number of members of the
Grievance Redressal Committee in an
industrial establishment shall mnot
exceed

fal two
b eight
i five
fd) six
118. The doctrine of notional extensions is

applicable in which one of the following
Lawsg?

fal The Workmen's Compensation
Act, 1933

{b) The Employees' Provident Funds
and Miscellaneous Provisions
Act, 1952

fc} The Payment of Bonus Act, 1965

fd] The Trade Unions Act, 1926

GAIP-A-TNS/B3A
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119. The Chairman and Vice-Chairman af the

Central Board under the Employees'
Provident Funds and Miscellaneous
Frovisions Act, 1952 are to be appointed
by

fa} the Btate Government

fB)  the State Government in
consultation with the Central
Government

fej the Central Provident Fund
Commissioner

fd} the Central Government

120. A sues B for trespass on his land. B

alleges the existence of a public right of
way over the land, which A denies, The
existence of a decree in favour of the
defendant, in suit by A against C for a
trespass on the same land in which C
alleged the existence of the same right of
way is

fa) relevant, but it will not operate as

estoppels
jl}  irrelevant, but it may be considered

fc] a conclusive proof that the right of
way exists

(d} relevant, but not a conclusive proof
that the right of way exists

| P.T.O.
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122. Privileged

121. Under the Indian Evidenece Act, 1872,

'Public Documents® include

fal records of sovereign authority,
official bodies, tribunals,
legislatures, Judiciary of India or
the Commonwealth aor of a foreign
country, and agreements of public
bank

b} records of sovereign authority,
official bodies, tribunals,
legislatures, Judiciary of India aor
the Commonwealth or of a foreign
country, and registered agreements

fe} records of sovereign  authority,
official bodies, tribunals,
legislatures, Judiciary of India or
the Commonwealth or of a foreign
country, and also public records of
private documents

fd} only records signed by public
officers and in custedy of a
government office

communication between
husband and wife can be admitted as
evidence in a

fal charge of murder against the
hushband

(b} case of embezzlement by the
husband
fc) case of matrimonial dispute

between them

{d) charge
husband

of sedition apainst the
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123. A makes an attempt to pick the pocket of

Z by thruating his hand into Z's pocket.
A fails in the attempt in consequence of
Z having nothing in his packet. A is
guilty of

fa) thefi

(B attempt to commit theft

fo}  no offence

fd). using force

124. Aattacks Z under such circumstances of

grave provocation that his killing of 2
would be only culpable homicide not
amounting to murder. B, having ill-will
towards £ and intending to kill him,
and not having been subject to the
provocation, assists A in killing 2, Here

fal both A and Bare guilty of murder

ib) both A and B are guilty of culpable
homicide not amounting to murder

ol A is guilty of culpable homicide not
amounting to murder while B is
guilty of murder

fd} A is puilty of abetment of murder
and B is guilty of murder

[ P.T.O,
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135. A intentionally causes Z's death, partly
by illegally omitting to give Z food, and
partly by beating Z. A iz guilty of

fa) attempt to commit murder

b} committing culpable homicide not
amounting to murder

e} attempt to  commit culpable
homicide not amounting to murder

fd) committing murder

126. A, intending to murder Z by poison,
purchases poison and mixes the same
with food which he delivers to 2%
servant to place it on Z's tahle. A is
guilty of

(a) no offence
{B) attempt to commit murder

e} criminal conspiracy to cormmit
murder

fdj attempt to  commit culpable
homicide not amounting to murder

127. Which of the following is mot related to
electronic record?

fa} Bection 65A of the Indian Evidence
Act, 1872

(b} Section 6TA of the Indian Evidence
Act, 1872

fe} Section 113B of the Indian
Evidence Act, 1872

fd} Section 224 of the Indian Evidence
Act, 1872

GAIP-A-TNS/53A

128. A is summoned by Court to produce a

particular document. Which one of the
following is correct in relation to his
examination?

) He becomes a witness in the cass.
{b] He cannot be cross-examined.
fcj He can be cross-examined.

(d} He becomes a witness so he can be
called for examination-in-chiel and
Ccroas-examination.

129. Which one of the following regarding

witnesses under the Indian Evidence
Act, 1872 iz not correct?

fa) An accomplice cannot be a witness.

{b) Communication between lawyer
and client is privileged, hence
cannot be admitted as evidence,

fc] Competency of witness shall he
decided by Court.

(d] A dumb witness may give his/her
witness only in writing which may
amount toe oral withess,

130. Which of the following is mot correct in

relation to admission?

o) Admissions are not conclusive, but
ma}y operate as estoppels.

b} All admissions are confessions.
fe} All confessions are admissions.

(d} An admission may be proved by or
on behalf of the person making it, if
it is relevant otherwise than as an
admission,
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131. What iz Tact in issue™

fa} Happening of an event

) Facts which are affirmed by party
and denied by other

fel  Relevant fact

fd] Statement made by party

132, Ewvidence to conspiracy under Section 10

of the Indian Evidence Act, 1872 is
applicable to

ja} crimes only
(b torts only
fc} both crimes and torts

fdl None of the above

133. Which of the following statements is not

carrect?

According to the Central Industrial
Security Force Rules

fa) B member of the Central Industrial
Security Force may use all means
necessary to effect an arreat as long
as such Force is minimum required
in that particular situation

fb) the member of the Force making an
arrest may also search the person
a0 arrested but only if that person
volunteers to be searched so as to
prevent allegations of violation of
the human rights

GAIP-A-TNS/53A

fe) if a search is carried out, a copy of
the inventory of the items taken in
possession  after the search is
required to be prepared and given
o the person so arrested

{d] an inventory is required to be
prepared even if nothing is seized
after search

134. The National Industrial Security

Academy is located at
faa) Hyderabad

B Arakkonam

fc} Mundali

(] Bhilai

135. Which of the following does not fall

within  the scope of technieal
consultancy services rendered by the
Central Industrial Security Force?

fa} Study of the industrial security and
fire protection related problems
and suggesting appropriate
solutions

(b} Preparing disaster management
and contingency plan and
conducting rehearsals for such
plans

fe} Planning  and designing  of
communication network and
preparation of related operations
instructions

(d} Procurement of security equipment
for the establishment to which it
has to provide security

[ B.T.O.
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136. Which of the following is met correct in

relation to an order of suspension of
an enrolled member of the Central
Industrial Security Force?

fa) An enrolled member of the Force ia
deemed to have been placed under
suspénsion by an order of the
appointing authority with effect
from the date of detention if he/she
is detained in custody, whether on
a criminal charge or otherwise, for
a period exceeding 48 hours,

&) An order of suspension made or
deemed to have been made
comtinues to remain in force until
it is modified or revoked by the
authority competent to do so.

fe) An order of suspension made or
deemed to have been made can be
modified or revoked at any time by
any authority to which the
authority who had issued the arder
of suapension is subordinate.

fd} An enrolled member cannot be kept
under suspension for more than
180 days.

137. Which one of the following is net eorrect

in relation to the penalty for neglect
of duty prescribed in the Central
Industrial Security Force Act, 19687

fa) A member of the Force convicted of
neglect of duty cannot be punished
with imprissnment,

{b] The offence of neglect of duty
ia cognizable and non-bailable,
notwithstanding anything
contained in the Code of Criminal
Procedure, 1973,
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fc) The Central Government may
invest the Commandant with the
powers of & Magistrate for trying
the offence of neglect of duty.

fd} There is no absclute bar on an
offence punishable under the Act
to be tried by an ordinary criminal
Court.

138. Which one among the following is nog

a branch of the Central Industsial
Security Force?

fa) Investigative
b} Ministerial
fe]  Executive
fd} Fire Service

139. Which one of the following is in

accordance with the procedurs
prescribed in the Central Industrial
Security Force Act, 1968 in relation to
an arrest made by any member of the
Force?

fa) Keep the detainee in custody for
not more than 48 hours for
interrogation and release him/her
if prima facie no criminal case
is made out against the detainee

fb) Lodge m First Information Report
with the local police if prima facie a
criminal case is made out against
the detainee

fo] Hand over the detainee to the Chiefl
Security Officer of the industrial
establishment concerned for such
acton as deemed fit

(dl Hand over the detainee to 5 police
officer or have him fher taken to the
nearest police station without any
unnecessary delay

[ B.T.O.
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140. Central Industrial SBecurity Force was

created
@) under an Act of the Parliament
fb) as per a Resolution of the Cabinest

fe) as per an Executive order issued by
the Ministry of Defence

fd] as per an Executive order issued by
the Ministry of Home Affairs

141. In the context of computer networls,
which one of the following is mot an
application layer protocol?

fal SMTP
b} FTP
fc) HTTP

(d TCP

142. In the context of computer graphica,
which one of the following is mot a
raster image format?

fa) JPEG
(b} TIFF
() Sva

fd) GIF
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143. Which one of the following communi-

cation media uses light pulses for
cArrying information?

fa) Coaxial cable

(b} Optic fibre

fel Microwave

(d) Satellite

144, In MS-Excel 2007, NPV(rate, wvaluel,

[value 2], ...) is a financial function that
returns

fal the net present wvalue of an
investment based on discount rate
and series of future payments and
income

{b) the number of periods for an
investment based on petiodic,
constant payments and constant
interest rate

fe) the future value of an investment
based on perodic, constant
payments and constant interest
rate

fd) the future value of an initial
principal after applying a series of
compound interest rates

[P.T.O,
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145. In MS-Excel 2007, STDEV(numberl,
number 2, ...] ia a statistical function
that
fal estimates standard deviation based
on a sample by ignoring logical
values and text in the sample

B} estimates standard deviation based
on a sample by including logical
values and text in the sample

fo) calculates  standard deviation
based on entire population by
ignoring logical values and text

{d) caleualates standard  deviation

based on entire population by
including logical values and text

146. What is used for deciding priority to
allocate CPU time to a process?
fa} Linker
b}  Scheduler
fe}  Loader
fd} Debugger

147. Which one of the following is not a
language translator?

(o} Assembler
(b}  Linker
jel  Interpreter

{di Compiler
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148. A device driver of output device

fal

(b)

e}

fel)

149, The

interprets input provided by user
into computer usable form

interprets computer output into
user understandable form

translates user inputs into output
device

facilitates user to communicate
with output device

hexadecimal number AS38 s

equivalent to

(a)
fb)
fe)

fd)

10538

26435

2643-8

10535

1B0. For the use of Indian scripts for data
entry, which encoding scheme is used
on most of modern computer systems
and smart phonea?

fa

(b}

fel

{d}

ASCI

EBCDIC

Unicode

IS0/IEC 646

[ PT.O.
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